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The question paper comprises two sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one mark questions. These are
to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two marks questions. These are
to be answered in about 30 words each.
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(vii) Question numbers 7 to 18 in Section A are three marks questions. These
are to be answered in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five marks questions. These
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two marks questions based on
practical skills. These are to be answered in brief.

T A
SECTION A

1. 39 ufsean o1 AW fafay ek gra sraqed asti 1 g aqmsti § aRafad
ferar STaT 7 | 1
Name the process by which unsaturated fats are changed to saturated
fats.

2.  “HIATR” T & b UV] AT SHehI 3TcifiTeh ST <hi Tafey =1 A ferfiaw | 1

Name the causative agent of the disease “Kala-azar” and its mode of

asexual reproduction.

3. frfiiiad Sfia i TRR @l sH1d 8 | 310 § fop Sfig § ania-Feeni

WAL 6 galfies gigdt gl 2 398 graf-ad aiEed =1 9 ot fafeu |

e, o, U™, T4, Heh | 1
The following organisms form a food chain. Which of these will have the
highest concentration of non-biodegradable chemicals ? Name the
phenomenon associated with it.

Insects, Hawk, Grass, Snake, Frog.

4. IR Tewfedrd @It wdfld Bd & 2 ¥ iR | 2
Why do stars appear to twinkle ? Explain.
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TIfaRoT sl S % Tl @9 YR % ‘R’ (3-R’s) & 1 dTcod B 2 30T afgd
Ty HIfU foh wafawor st s9H & ol 39 o194 faemer™ # §9 fiF-R &1 9o
orE TR T |

What is meant by three types of ‘R’ (3-R’s) to save the environment ?

Explain with examples how would you follow the 3-R’s in your school to
save the environment.

ST % A @ % €9 H GO o IR Al sl IR S8 |

List four advantages of water stored in the ground as “ground water”.

wwam@wmws@wﬁ@w

G) TN
(i) wdH
(iii) WeTE

Write the molecular formula of the following compounds and draw their
electron-dot structures :

(1) Ethane
(11) Ethene
(iii) Ethyne

HTeieh AR % ThEicHe T & = aedd g ? fHfafegd @fee &
TEATCH 3T I TehITcHeh HHg i dqTcTehl & &9 § fafau :

(i  wedd

(i) UIHTEHh A

What is meant by functional group in carbon compounds ? Write in

tabular form the structural formula and the functional group present in
the following compounds :

(1) Ethanol
(11) Ethanoic acid

el o STeRtoT 1 TqE 3evd fiflau | qwil & 3@ IMURyd UrEH 1AM
fofae foeeht 3w onyfe 3Ted anvlt i foehfad & | foham T 7 |
agfTes TTad W JarEy | g 3Ted areft % S| W H 19 4Tge,
39T 3R AU I T ?
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11.

12.

13.

14.
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Write the main aim of classifying elements. Name the basic property of
elements used in the development of Modern Periodic Table. State the
Modern Periodic Law. On which side (part) of the Modern Periodic Table
do you find metals, metalloids and non-metals ?

fopet T X BT TTHTY] hHT 20 B |

() T X 6 Aad greft 7 feufa feifa Hifvw |

(i) T X H I Y (WA AR 8) § AfAGRI/AT g 5 s w1
3 fafEu |

(iii) 39 SR o AMRTeh hl Tehld Tty BRM 312@T GRIF ? 3Tdeh I hi gfE
I |

The atomic number of an element X’ is 20.

1) Determine the position of the element X’ in the periodic table.

(i) Write the formula of the compound formed when X
reacts/combines with another element Y’ (atomic number 8).

(iii) What would be the nature (acidic or basic) of the compound
formed ? Justify your answer.

3ifieh S 3R Afieh S & et yg@ =R fafaw | dffeh s
At YT IS A B et T § @ fohmes gro witva wfisfiar
SALSTAr & TU&Thd 3R AT 3= TAM & Hohd & ? 39 I hl gE
HfoT |

Write one main difference between asexual and sexual mode of
reproduction. Which species is likely to have comparatively better
chances of survival — the one reproducing asexually or the one
reproducing sexually ? Justify your answer.

THRIT W g%gHad (YAsSiH) hi TR I TIE HINT | I8 JshAT 51 § Tohd
TR T4 B 2

Explain the process of regeneration in Planaria. How is this process
different from reproduction ?

AU T 8 ? HHG] H 39k i hl AT hifaT |

What is placenta ? Explain its function in humans.

“fopelt T o6 TI1R] T T SAYST AIGT BHT HE GIAM & |7 Toh TATE 3TRE Gi=eht
39 oA HI gfY Hifvw |

“It is a matter of chance whether a couple will have a male or a female
child.” Justify this statement by drawing a flow chart.
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“Tan w7 Toh IS A0 IR @ 1 ST Ueg A<k A 8 9T |7 39 e
98 Tk ITYh 35N G hHIWT |

“It is possible that a trait is inherited but may not be expressed.” Give a
suitable example to justify this statement.

fefafga g gehtor § guafdd fortor =61 9o eoie & faw oo foptor o
Hifaw | yeprer Y His fortor forelt 3aat g &6

(a) ¢gd W U % J&I & § IV 0 T AR 2 |

(b) T BlhE i T 38R 7 |

(c) &I % o THTH 7 |
Draw a ray diagram to show the path of the reflected ray in each of the
following cases. A ray of light incident on a convex mirror

(a)  strikes at its pole making an angle 6 from the principal axis.

(b)  is directed towards its principal focus.

(c) is parallel to its principal axis.

M Fiew qun focifad ied & o aedd 8 ? 39 GRSl i AHIohd
M@ Tige T8 HIfT |

What is meant by advance sunrise and delayed sunset ? Draw a labelled
diagram to explain these phenomena.

IS 1 R ? I8 agHvSd | fohE TR 3 sl sl 8 2 wE i Y ug
fepelt aTfias ot fopd SRR waTford et 2 |

What is ozone ? How and where is it formed in the atmosphere ? Explain
how does it affect an ecosystem.

e Aiffes a9 Tl a7 U TAISThdT i A AT I hich 3Tqdl
3Th1 BTH Hleh IchB T8 FAdgieh fomamd U d & | R0 od B T
SHIfSTT fop e o794 Aifiehi & fmior 4 39 YR 1 fa=me 58 fafy @ w0 =&
T L Tehal | A Afehl H 99 Il Ae-g R hreA Afenl § a4
MY o YhRI < a1 fofge | rer dfga o off we e foh wEq Afies
T fogd % puTeh b B |

Elements forming ionic compounds attain noble gas electronic
configuration by either gaining or losing electrons from their valence
shells. Explain giving reason why carbon cannot attain such a
configuration in this manner to form its compounds. Name the type of
bonds formed in ionic compounds and in the compounds formed by
carbon. Also explain with reason why carbon compounds are generally
poor conductors of electricity.




20. (a) feuwwwsm@# A, B, C 3 D i qg=1T 3 39 9m fafau |
Eotn) A

(b) YT Toh8 Hhgd & ? SHh Hewd THesy |
(c) godt ® fa=m <t ufshan wwemsT | g9 % 3W wm w1 A fofEge S

= & gvEmq
() oS A forfad g 2,
(i) % H fGwfyd g St g | 5

(a)  Identify A, B, C and D in the given diagram and write their names.

(b)  What is pollination ? Explain its significance.

(c) Explain the process of fertilisation in flowers. Name the parts of
the flower that develop after fertilisation into

(1) seed,
(1)  fruit.
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STA-3gWa &1 B ? T1(-3gHd § TR IR hiehi ol Tl S5 | 39 Hehi H
¥ A o sl % fgl % A1id-Sgud B Tg@ PR AE &l
FehdT ? TqE HIFT |

What is speciation ? List four factors that could lead to speciation. Which
of these cannot be a major factor in the speciation of a self-pollinating
plant species ? Explain.

IS B Taad YU gRT HIHE <hl SaTdl ol Tidisrs Yod 96 9T hiehidd shidl
? | uftfeufa 9= feu o srgER 2 -

STl T TS = 1-5 em

E&Wﬁqﬁw@:mcm

Wﬁ?&ﬂﬁ@:lScm
Ife ST Ul o &I A o ATEdd 7, A HEAIRId T Iiehe shifolT
(a) Qﬁﬁ'@ﬁ?ﬁm@@

oo

(b) Sfdfears < dw=Ts

AfE sare 1 g9 ¥ g 10 om A T, A I W =1 @ W 2 37 W
1 gft 3m wfifeafs & fog fror sma diee i |

A student has focused the image of a candle flame on a white screen
using a concave mirror. The situation is as given below :

Length of the flame = 15 cm
Focal length of the mirror = 12 cm
Distance of flame from the mirror = 18 cm
If the flame is perpendicular to the principal axis of the mirror, then
calculate the following :
(a)  Distance of the image from the mirror
(b)  Length of the image

If the distance between the mirror and the flame is reduced to 10 cm,
then what would be observed on the screen ? Draw ray diagram to justify
your answer for this situation.



23. forlt ol St eamar @ w0 a8 2 ST ©H.STE. (S.I.) ATk T g ? fohd
TehT oh TIE oh! WAl EHTcH Bl @ ?
Sis o fordl fora o1 arEafass, St 3 THH 3MHR (FT3H) 1 Afdfera oiF
Y 40 cm g W ST & | o 3 TPl I & a1 8 ? U I A g 5
o fertor e wifew | 5

What is meant by the power of a lens ? What is its S.I. unit ? Name the
type of lens whose power is positive.

The image of an object formed by a lens is real, inverted and of the same
size as the object. If the image is at a distance of 40 cm from the lens,
what is the nature and power of the lens ? Draw ray diagram to justify
your answer.

24, THE 97 & ARG Icdsh W 1 S faRgu 5
(i) i
(i)  gRdTiE
(iii) ~ gdelt
(iv) e

forerrasiiar 23 & wUSl safts wifdar sfuar 9 difsd 2 | 38 U sl J9eE g
TTCd ST o TN & 3ieh TohaT ST Hehal & | STTehT oo™ 39 429 & &R
H STTEhdl 3099 i AR Jog o I ARN Sl 49¢H o g Iia o &
3T § foume R 30 9 H NI Il W B | 39 A9 HeuTiedi &
1 fiete 39 qu %1 § fohg YR JTe o Hehd & 2 formeri gRT 39 yehw
& AT & I & 32T fTafgu |

State the function of each of the following parts of the human eye :
(1) Cornea

(i)  Iris

(iii))  Pupil

(iv) Retina

Millions of people of the developing countries are suffering from corneal
blindness. This disease can be cured by replacing the defective cornea
with the cornea of a donated eye. Your school has organised a campaign
in the school and its neighbourhood in order to create awareness about
this fact and motivate people to donate their eyes after death. How can
you along with your classmates contribute in this noble cause ? State the
objectives of organising such campaigns in schools.
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SECTION B

25. I O UHIEH 37 s Tk g gl Aol fofemd 9 W 3R o ara forew™
T T STeId1 B | 98 I U0l UM foh

(A) I fIerg v TEF 8 Sar g 3 e fofenw 93 # g aiteds T8
B |

(B) A forems g3 e g1 Sran 8 3R fen forend 3 o 81 S1an B |

(C) A fIewa w3 4 +I5 ufgds 981 g1 3R e foend 93 o 81 S
2|

D) Tt foreqw v ¥ w8 ufgdd T8 giar 3 o forens w3 fiem & S
2 |

A student puts a drop of acetic acid first on a blue litmus paper and then
on a red litmus paper. He would observe that

(A)  the red litmus paper turns colourless and there is no change in the
blue litmus paper.

(B)  the red litmus paper turns blue and the blue litmus paper turns
red.

(C) there is no change in the red litmus paper and the blue litmus
paper turns red.

(D) there is no change in the blue litmus paper and the red litmus
paper turns blue.

26. AR AMUTGRATT T ATH Hd T9F BEI gRI A1 I T8 $§ fefomt
TR TEE
(I) G R 3Tl 1 90 3 |
(I sAffshan firsor 1 & wepfa 2 |
(III) 38 AMTshAT T SOAT T FIINTVT BT 2 |
aAV) =g Afufsran Igrefientor stfirfsran 7 2 |
T ¥ gE el et § 2
(A)  had IR III
(B) I, I3 III

(C) 1L, III 3R IV
(D) ohad I3 II

31/2/1 10



While studying saponification reactions, the following comments were
noted down by the students :

)] Soap is a salt of fatty acids.

(IT) The reaction mixture is basic in nature.

(III) In this reaction heat is absorbed.

(IV) This reaction is not a neutralisation reaction.
Which of these are the correct comments ?

(A) Iand III only

(B) I,IIandIII

(C) II,III and IV

(D) TIandIIonly

27. g BF IR WEAE I, IL, 111 3R IV H, T § 4 mL 3THd S oot 3
IR Tid A& - @l 1 H NaCl, W&Helt 11 H CaCly, W&t 111 H MgCl,
3R wEHelt IV H KCl 6 T8 AT Hieidl 2 | 39 Ivard 98 Yodsh WEqd! d
fqu U A1gq % wiE H 8 o5 et wWEEe 6 gl @t 10 R fEam 7

fohrl TEHTCTal | QT ST & 2 1
A ITIl

(B) II9TIII

© I91v

(D) 191V

A student takes 4 mL of distilled water in each of four test tubes I, II, ITI
and IV, and then dissolves an equal amount of four different salts namely
NaCl in I, CaCl,, in II, MgCl,, in III and KCI in IV. He then adds 8 drops
of the given soap solution to each test tube and shakes the contents of the
test tube 10 times. In which test tubes will enough lather (foam) be

formed ?

(A) TandII
(B) II'andIII
(C) TIandIV

(D) 1III and IV
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freh B @ 7T o T o yur o Tl 9T @1 steRE e o fow wgr T |
39 JAT % 3Tavash =1 9 few e g

(I) " o ol i fogg ST # forment v Ta @b offm & i |

(ID) o S =l whIfew 37X sEeh fafie amn o1 Jeor Hifvw |

III) T Ut fou1 & P wex & i Siforg |

(IV) Afafes STat =t fepra e | it @t fial gt wue & g% = U A
% fog W &1 s Y |

3 = T e A §

(A)  IIL LIV, II

(B) IILIV,I,1I

(C) I, 1L1II,1IV

(D) L 1II,1, IV

A student is asked to study the different parts of an embryo of pea seeds.
Given below are the essential steps for the experiment :

(D Soak the pea seeds in plain water and keep them overnight.
(II)  Cut open the soaked seed and observe its different parts.
(IIT) Take some pea seeds in a petri dish.

(IV) Drain the excess water. Cover the seeds with a wet cotton cloth
and leave them as it is for a day.

The correct sequence of these steps is

A IOL LIV, II

(B) HOLIV,I1II

(C) ML ILI,IV

(D) HOLILI IV

forell wem #, BEI & fafm Sial o UG TS U@ % Hheblddl
Hieal/AATgSl/E1 ST J&IvT HUAT T | JE0 <k qvE SE A qHS SIS
% fffea @ 9 | 98 9 1 e

(A)  ueht qen foaeh o @

(B) e 3R TS % U@

() faaeht 3 =wmes & T

(D) T, Sdw@ T {S9helt & U
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In a class, students were asked to observe the models/slides/pictures of
the skeletons of forelimbs and wings of different organisms. After the
observations the students made the following groups of homologous
structures. Select the correct group :

(A)  Wings of a bird and a butterfly
(B)  Wings of a pigeon and a bat
(C)  Wings of a butterfly and a bat

(D)  Forelimbs of a cow, a duck and a lizard

30. forell ©F A fadc qUUN R SERTITST % ey fa W Tl Hiwech i 9T
feur wfdfers v W yed fopan | Rieres 4 gqdur K wiekE gl 1 SR st
fehean A W S W foiT 38 A % Tldfera @l UG W BIhid i hI
germa feam | 3| B I F1 HET =Y 2 1

(A) U I UE § G THMT AT |

(B) U i Y& hl 3TN GhMT 1Y |

(C) edur 3R 98 gHi h g I R FHET =R |
(D) had 9e i & G T AR THMT =T |

A student obtained on a screen the sharp image of a candle flame placed
at the farther end of laboratory table using a concave mirror. For getting
better value of focal length of the mirror, the teacher suggested to him to
focus the sun. What should the student do ?

(A)  Should move the mirror away from the screen.
(B) Should move the mirror towards the screen.
(C)  Should move the mirror and screen both towards the sun.

(D)  Should move only the screen towards the sun.

31. 3G " hl BiwE gl M9iRd d @ 39 @ g el e fora o
Sfcfersl 9 T ®iehiEd 4 HT TAE HId & | 9§ W S ol Ig Tt

fora < |9 AT BFT =Y ? 1
(A)  Hiur 3R 9gd Bl
(B) ©iem 3R ¥

(C) 3l 3R &l
(D) 3 3R &7 Bl
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While determining the focal length of a convex lens, you try to focus the
image of a distant object formed by the lens on the screen. The image
formed on the screen, as compared to the object, should be

(A) erect and highly diminished
(B)  erect and enlarged

(C) inverted and enlarged

(D) inverted and highly diminished

T h AATRR Td & T dTelt JhreT oo o1 9 STRGd i & fore =
TR 75 =R WTAeh SHaeetsli § 8 Hais oqawdl -1 g ?

N

(A) (B) (©) (D)

Which of the following is the best experimental set-up out of the four
shown for tracing the path of a ray of light passing through a rectangular
glass slab ?

(A) (B) (©) (D)
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33. = fdu U 9r @t § ¥ fhud wia & 5w 9 T arelt Jehrr R 1 uy
TE 1 AT T 7 ? 1

(A) (B)
(©) (D)

In which of the following four diagrams is the correct path of a ray of
light passing through a glass prism shown ?

(A) (B)
(©) (D)
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HIs B VHITIH 310 o TUTEHT T TH HL G 8 | 3T g Y& fohy S
I WEifess 3t & @1 wifaes urgmt fY TR AT | 9 98 39 o U U
<okl WSTH BI3gIoH HIae AT 8 a9 o1 Bia1 8 ? i g J&qv7 fafaw |

A student is studying the properties of acetic acid. List two physical

properties of acetic acid he observes. What happens when he adds a pinch
of sodium hydrogen carbonate to this acid ? Write any two observations.

H1E BE A H Yopol g 3eifieh S & fafier =l & T wemge o
el G 3@ W 2 | 98 WS § S $ @Al @ 39 g Wit (FHHAR)
TR |

A student is viewing under a microscope a permanent slide showing
various stages of asexual reproduction by budding in yeast. Draw
diagrams of what he sees (in proper sequence).

13 BF 8:0 cm T ol 20 cm BIhH g % fohHl 3T 08 o H&F &
e TEdl § | fore ol @ 8 gl 80 cm W 98 OE W gET AR 94 W
fora =1 <itenr wfafers STed @ 8 | 9¢ W Ted idfers 61 Yepfd (Ieer, e
faafda, Sier) @ gt ? 379 I <l g = forg forwor i@ @i |

A student places a 8:0 cm tall object perpendicular to the principal axis of

a convex lens of focal length 20 cm. The distance of the object from the
lens is 30 cm. He obtains a sharp image of the object on a screen placed
on the other side of the lens. What will be the nature (inverted, erect,
magnified, diminished) of the image he obtains on a screen ? Draw ray

diagram to justify your answer.
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